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H1.5EZ W (285c= 448 NN HeunS)

SENE SHAMZHE) S22 /min) =& Z (f/cc) ZIHF
03a 21«
#01 2XZAH 1 240 10.02 0.001 oj gt
#02 FXAHH 2 240 10.00 0.002 ojet
#03 2XEA 3 240 10.01 0.002 al gt
#04 22X 2 4 240 10.03 0.001 o gt
#O5 N A=Y 120 10.00 0.002 ol et
#06 P AHLHIYF 40 10.04 0.002 arat
#07 HIDJ|SHER 40 10.00 0.002 ajet
#0B HIJI=BtEF 40 10.00 0.002 olgk
#09 HIDI20tE+ 40 10.01 0.001 ojet
038 22«
#01 2 A3H A 240 10.00 0.002 alet
#02 2XIZH 2 240 10.00 0.002 argt
#03 22X EH 3 240 10.03 0.001 ol gt
#04 SXZH 4 240 10.00 0.001 olet
#05 A HEFU 120 10.01 0.002 0| gk
#06 P MAH R 40 10.02 0.002 ajet
#07 W= EER 40 10.00 0.001 012k
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